MAT 1180, Reitz

NYCCT


Exam 2 Review

Covers Sections:  6.2—6.5, 7.2—7.4, 8.1, 8.2

While every effort has been made to ensure the accuracy of the questions and solutions below, mistakes do sometimes occur.  If you discover an error please let me know, either in class, or by email to jreitz@citytech.cuny.edu.
1. Solve each equation.

a. 
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2x −11 = −3x + 4










   

2x-11=-3x+4


b. 
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4(x − 3) +12 = −3(x + 4)










   

4(x-3)+12=-3(x+4)


c. 
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2. Solve for the indicated variable.  
a. solve for m: 
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q = 5m + 2p










   

q=5m+2p


b. solve for B:  
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3. Solve each problem.
a.  When two times a number is decreased by 3, the result is 11.  What is the number?
b.  According to one mathematical model, the average life expectancy for American men born in 1900 was 55 years.  Life expectancy has increased by about 0.2 years for each birth year after 1900.  If this trend continues, for which birth year will the average life expectancy be 100 years?
c.  A 150 lb man requires 70 milligrams of a drug.  How much does a 200 lb man require?

4. Solve each inequality and graph the result on a number line.  
a. 
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3x + 4 ≤ 2x + 7










   

3x+4£2x+7



b. 
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c. 
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3 ≤ 4x − 5 <19
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5. a. Use x- and y- intercepts to graph the equation 
[image: image9.emf]
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x + 3y = 6










   

x+3y=6

.
b. Find the slope of a line passing through 
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(2,-3)

 and 
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(−4,−5)










   

(-4,-5)

.
c. Use the slope and y-intercept to graph the equation 
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6. a. Solve by graphing and check your answer: 
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x + y = 2
x − y = 4
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b. Solve by the substitution method and check your answer: 
[image: image14.emf]
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2x − 3y = −13
y = 2x + 7
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c. Solve by the addition method and check: 
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2x + 3y = −16
5x −10y = 30
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7. Graph the solution for the inequality:  a. 
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−4x + 3y ≥ 24










   

-4x+3y³24



b. 
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8. Graph the solution for the system of inequalities:  
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9. A television with an original price of $1450 is on sale at 15% off.  
a.  How much is the discount? What is the sale price of the television?
b.  If the store offers a special deal, reducing the sale price by an additional 10%, what is the final price of the television?

10. You deposit $300 in a bank account with 4% interest.  How much interest have you made at the end of 5 years?


Answer Key

Answers are provided below.  Keep in mind, for full credit on the exam you must show all work and follow all instructions.

1. a. 
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x = 3










   

x=3


b. 
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c. 
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2. a. 
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b. 
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3. a. equation: 
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2x − 3 =11










   

2x-3=11

, 
solution: 
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x = 7










   

x=7


b. equation: 
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55 + 0.2x =100










   

55+0.2x=100

,
solution: 
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, which corresponds to year 2125
c. equation: 
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solution: 
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4. a. 
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c. 
[image: image34.emf]


€ 



{x | 2 ≤ x < 6}










   

{x|2

£

x

<

6}


[image: image35.emf]


5 10
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b. 
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2



-2



- 4



5










 solution: 
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b. solution: 
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c. solution: 
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9. a. The discount is $217.50, the cost of the television is $1232.50
b. The final price of the television is $1109.25

10. $60
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